



Module 8.1 – Exercise 1



Specification of Entry Requirements



		In this exercise, you will apply the concept of entry level specification as well the idea of by-passing the instruction of skills already possessed by individual trainees.



		This is the problem which confronts you:



		You are a training developer, preparing a course for instructors and/or training developers.  You find that one of the skills which these people will be required to do is to make correlations of sets of results; and so you will now need to design a module on the calculation of correlation coefficients and graphical interpre-tation of correlation.



		The attached Form 7 is the result of your population study in Phase 3, and a Form 5 would have given you the subtasks and SKA requirements.  You have already done a preliminary subdivision of the course into 6 modules, covering the main learning activities; and these are shown on the attached flowchart.  It is assumed that mastery tests have been developed for each of the modules, and these could be used to diagnose the needs of each individual trainee.



		Now answer the following questions and then refer to the model answer.  If further questions occur to you, please consult the WS administrator.



1.	On Form 7, place a cross (x) alongside the "Task Ref. No." column for those SKA's which you would choose as prerequisites.  From a previous study, you have decided to develop training modules for any skill required by more than 25% of any of the populations;



2.	Write a brief description of the Entry Requirements to the training;



3.	On the flowchart, the 6 modules are shown as well as a probable routing for the trainees from population 1.  On your copy, show the possible routing for popu-lations 2 and 3, including potential by-passes for some of the trainees;



4.	On this flowchart, also show where each test would be used.
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Calculate correlations



Calculate:  +, -, x, �SYMBOL 184 \f "Symbol"�



Calculate squares



Calculate deviations



Calculate square roots



Interpret algebraic symbols

(x, y, X, Y, �SYMBOL 229 \f "Symbol"�r      ,  ....

                      xy



Interpret graphs (linear -- 2 axes)



Construct graphs



Use pocket calculator

�



1.10



1.11



1.12



1.13



1.14



1.15







1.16



1.17



1.18

�



0



100



90



0



20



50







20



0



90

�



10



100



100



10



100



80







80



80



100

�



25



100



100



25



100



50







100



50



100

�



9



100



95



9



60



58







55



32



95

�



x



-



-



x



x



x







x



x



-

�



x



-



-



-



-



x







-



-



-

�����������



��

Entry Requirements



�PAGE  �





�PAGE  �2�

ENTRYR~2.doc








